Inter American University of Puerto Rico Metropolitan Campus BASW program Results for Assessment of Practice Competencies

Academic Year 2018-2019

Competency Benchmark	Measure Benchmark	Percent Attaining	Percentage Achieving Competency	Competency Attained?
80%	Measure #1	Measure #1:	(100%+94%+94%+94%+100%=	
	Students must score a minimum of 4 out of 5 points in questions 1.1, 1.2,	Behavior 1: 100%	482/5=96.4%	
	1.3, 1.4, & 1.5 in the Field	Behavior 2:		
	Evaluation Instrument.	94%		
			96.4%+86%=	
		Behavior 3: 94%	182.4/2=91.2%)	
				Yes
		Behavior 4: 94%	91.2%	
		Behavior 5: 100%		
	Measure #2: Reflection	86%		
	Students must obtain at least 80 out of 100 in			
	Benchmark	Benchmark 80% Measure #1 Students must score a minimum of 4 out of 5 points in questions 1.1, 1.2, 1.3, 1.4, & 1.5 in the Field Evaluation Instrument. Measure #2: Reflection Students must obtain at	Benchmark Measure #1 Students must score a minimum of 4 out of 5 points in questions 1.1, 1.2, 1.3, 1.4, & 1.5 in the Field Evaluation Instrument. Behavior 2: 94% Behavior 3: 94% Behavior 5: 100% Measure #2: Reflection Students must obtain at least 80 out of 100 in	Measure #1 Students must score a minimum of 4 out of 5 points in questions 1.1, 1.2, 1.3, 1.4, & 1.5 in the Field Evaluation Instrument. Behavior 2: 94%

Competency	Competency Benchmark	Measure Benchmark	Percent Attaining	Percentage Achieving Competency	Competency Attained?
Competency 2 –Engage Diversity and Difference in Practice	80%	Measure #1: Students must obtain a minimum of 4 out of 5 points in questions 2.1, 2.2, & 2.3 in the Field Evaluation Instrument.	Measure #1: Behavior 1: 94% Behavior 2: 94% Behavior 3: 94%	(94%+94%+94%= 282/3=94% 94%+78%=172/2=86%) 86%	
					Yes
		Measure #2: Students must obtain at least 80 out of 100 in rubric.	78%		
Competency 3 –Advance Human Rights and Social, Economic, and Environmental Justice	80%	Measure #1 Students must a minimum of 4 out of 5 points in questions 3.1& 3.2.	Measure #1: Behavior 1: 88%	(88%+88% =176/2=88%	
			Behavior 2: 88%	88%+100%=188/2=94%)	

Competency	Competency Benchmark	Measure Benchmark	Percent Attaining	Percentage Achieving Competency	Competency Attained?
		Measure #2 Students must obtain at least 9.6 out of 12 in Part I of Debate rubric.	100%	94%	Yes
Competency 4 –Engage in Practice-informed Research and Research-informed Practice	80%	Measure #1: Students must obtain a minimum of 4 out of 5 points in questions 4.1, 4.2 & 4.3 of Field Evaluation Instrument.	Measure #1: Behavior 1: 88% Behavior 2: 82% Behavior 3: 82%	(88%+82%+82% =252/3=84% 84% +92%=176/2=88%) 88 %	Yes
		Measure #2 Students must obtain at least 20 out of 25 points in Rubric.	92%		

Competency	Competency Benchmark	Measure Benchmark	Percent Attaining	Percentage Achieving Competency	Competency Attained?
Competency 5 –Engage in Policy Practice	80%	Measure #1 Students must obtain a minimum of 4 out of 5 points in questions 5.1, 5.2,	Measure #1: Behavior 1: 82%	(82%+82%+94%=258/3=86%	
		& 5.3 in Field Evaluation Instrument.	Behavior 2: 82%		
			Behavior 3: 94%	86%+79%=165/2=82.5%)	Yes
				82.5%	
		Measure #2 Students must obtain at least 80 out of 100 points in rubric.	79.16%		
Competency 6 –Engage with Individuals, Families, Groups, Organizations, and Communities	80%	Measure #1 Students must obtain a minimum of 4 out of 5 points in questions 6.1 &	Measure #1: Behavior 1: 94%	(94%+94%=188/2=94%	
		6.2 in Field Evaluation Instrument.	Behavior 2: 94%	94%+86%+100%= 280/3=93.33%)	
		Measure #2 Students must obtain at least 20 out of 25 points in rubric.	86%	93.33%	
		Measure #3	100%		

Competency	Competency Benchmark	Measure Benchmark	Percent Attaining	Percentage Achieving Competency	Competency Attained?
		Students must obtain at least 20 out of 25 points in rubric.			
Competency 7 –Assess Individuals, Families, Groups, Organizations, and Communities	80%	Measure #1 Students must obtain a minimum of 4 out of 5 points in questions 7.1, 7.2, 7.3, & 7.4 in Field Evaluation Instrument.	Measure #1: Behavior 1: 94% Behavior 2: 94% Behavior 3: 88%	(94%+94%+88%+88=364/4=91 %	
			Behavior 4: 88%	91%+85%+100%=276/3=92%)	Yes
		Measure #2 Students must obtain a minimum of 19 out of 24 points in rubric.	85%	92%	
		Measure #3 Students must score at least 80 out of 100 in rubric.	100%		

Competency	Competency Benchmark	Measure Benchmark	Percent Attaining	Percentage Achieving Competency	Competency Attained?
Competency 8 –Intervene with Individuals, Families, Groups, Organizations, and Communities	80%	Measure #1 Students must obtain a minimum of 4 out of 5 points in questions 8.1, 8.2,	Measure #1: Behavior 1: 88%	(88%+88%+94%+82%+82%=43 4/5=86.8%	
		8.3, 8.4, & 8.5 in Field Evaluation Instrument.	Behavior 2: 88%		
			Behavior 3: 94%		
			Behavior 4: 82%	86.8%+86%+96%=268.8/3=89.6 %)	Yes
			Behavior 5: 82%	89.6%	
		Measure #2 Students must score at least 8 out of 10 points in questions 2 & 3 in the rubric.	86%		
		Measure #3 Students must score at least 72 out of 90 points in questions 1-9 of rubric.	96%		

Competency	Competency Benchmark	Measure Benchmark	Percent Attaining	Percentage Achieving Competency	Competency Attained?
Competency 9 –Evaluate Practice with Individuals, Families, Groups, Organizations, and Communities	80%	Measure #1 Students must obtain a minimum of 4 out of 5 points in questions 9.1, 9.2, 9.3, & 9.4 in the Field Evaluation Instrument.	Measure #1: Behavior 1: 88% Behavior 2: 88% Behavior 3: 88% Behavior 4: 88%	(88%+88%+88%+88%=352/4=8 8%	Yes
				88%+83%+96%=267/3=89%)	
				89%	
		Measure # 2 Students must score at least 28 out of 35 points in questions 4 & 5 in the rubric.	83%		
		Measure #3 Students must score at least 8 out of 10 points in question 10 of rubric.	96%		